At N30163

VOLKSWAGEN
CADDY MAXI

w2 20072015

gt

VOLKSWAGEN
CADDY MAXI

Sicherheit

1D ISTRUZIONI DI MONTAGGIO
GB) FITTING INSTRUCTIONS
(D) MONTAGEANLEITUNG

CFD INSTRUCTIONS DE MONTAGE

D
E
CE ISTRUCCIONES DE MONTAJE Kargo o | Ar. N10005
P
m

(P INSTRUCOES DE MONTAGEM
(D MONTAGE-INSTRUCTIES Acclaio / Steel

(S) MONTERINGSANVISNING
FIN) ASENNUSOHJE
&SD PAIGALDUSJUHEND
€CAD STIPRINASANAS INSTRUKCIJA
(LT PRITVIRTINIMO INSTRUKCIJOS
(PL) INSTRUKCJA MONTAZU
®RUS MIHCTPYKUMM NO YCTaHOBKE
(€2 NAVOD NA MONTAZ

) NAVOD NA MONTAZ

sr() NAVODILA ZA PRITRJEVANJE Ka rg°'PI us series

(HR) UPUTA ZA SASTAVLJANJE

Alluminio / Aluminium

(HD A FELSZERELES MODJA
GR) Odnyie ouvappoAdynon
(TR) MONTAJ TALIMATLARL

BG' NMHCTPYKUWK 3A MOHTAM N(A>RDRIVE®

GRB UPUTSTVA ZA MONTAZU
TRANSPORT SOLUTIONS



7
! Kal’go series

| Acciaio [ Steel

3 x50kaG

o= ' =t » : =-- %AgOKG

7
| Kargo-Plus .c:s

Alluminio / Aluminium




NCORDRIVE

TRANSPORT SOLUTIONS

~N30163

30PL002B

X N
4 / "‘“\ / = ) .\;v/ = ""4\

{; / ~
\ ‘K ——— ' S =)
/ | o 4 N y

o0orL032[§] | [oopLo33 ] | |ooPLo34[F]  ooPLO35 Y



40Fe001 §P] | 60BQs04s Y

62880300 [

60CE8070 2 B 60CE8080 4 -
M8x70 X M8x80 X

M8x95
S & =
70 80 95
61ED0815 Y | | Sinose '60R0003
&) C
660R20C(N] | |72Fe0001 K] | |72FE0003 K]

a

7

|




2_

00PLO3

3122 mm
1980 mm

P
3000 mm
1980 mm

P
H

P
H




2

F

000

2 G

M8x80 ‘

00-©

2 (9

M8x70 -

000

v © @

Q=
O)m 2
0

o)
- (o)
<)

(o (¢

(comp [

oL ™

<)




VA B B B B B L 5 5 5 5 5 Le s s e 4

ATTENZIONE
WARNING &

Kargo series = Kargo-PIus series

Alluminio / Aluminium

-

A A NN """ " TS TTT"TTTTTNTTTTTTTTTTNT™

YA NS N N NN TN TN TN T T Y'Y YT LT S TTTT"TTTTTT"T™N"

A

VA B B B L L5 L L 5 5 5 5 5L s esS e 4

i



| Il [ - s .
Rl =171 O (eQ | Cmh e
AN /1 >
s i ~ | ~

| (ww[) [le<) @\J@ - (<)
‘ _ : g
_

5 \ _'»“,;g";,,.a
;25 ‘
7 >¢

Kargo-Plus series
Alluminio / Aluminium
XX

Acciaio / Steel

kd

g

Q

(*)
S

4]
-




e
-©
-




OPTIONALS rtr/ FOR/ FUR:

Kargo series

Acciaio / Steel

KARGO ROLLER

S NERL ) KO L-64cm
N11003 [} & AN

E=d=| LOADSTOPS | (=@~ LOAD STOPS

N11001 S N11002 IS

SPOILER
K9 L=95cm
K-11 L=110cm




OPTIONALS per / FOR/ FUR:

KARGO ROLLER

N11030 L=64cm
N11034 L=96cm

EYE-BOLTS

N11057 |

N11058 |

SPOILER

L=95cm
7 L=110cm




OPTIONALS Prer/FOR/FUR:

Kargo scie: Kargo-Plus

Acciaio / Steel Alluminio / Aluminium

KARGO TUBE

L ARDEDE T200 L=205cm
WO ANDEYE T300 L=305cm
L ARDEYE T400 L=405cm

LADDER HOLDER LADDER STEP
STRAPS 3 2 ADAPTER

N11065 RUE N11067 RUE

EXTENSION ROLLER
U0 L=64cm

isareg ark of
LAMPA S p A
\/ 6019 d a {MN) ITA
DI'.ld certific UN I:N 50 9(( 2008

www.nordrive 2
TRANSPORT SOLUTIONS www.lampa.i &
J—7



